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401 Al EHI RSO 25,000 207,500 £182,500
01 Al 25,000 207,500 182,500
O FANHEEXNE SAL2
5,000,000 * 574 25,000
405 THeHH SHI 24,000 0 24,000
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—AHEI} +42 2,800,000 * 224 5,600
—OHHEXI B 200,000 * 474 800
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— AFRIAIE 60,000 * 13& * 13 780
— HSHs 30,000 * 13% * 13) 390
02 222 262,507 174,024 88,503
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Rpe-n 70,000 * 100 700
CEETISIE DR MY MALSE oL
S M= 50 * 18,0000H 900
02 222 106,321 93, 157 13, 164
O 1. 2322 2 AA 104,515
—FEINSVDHE DANAN &
400 * 21,450 * 128 102,960
~HYNY HEE ATANAY ANEE sS4l
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— A2 2R 4E
8,528 + 79 = 33A12F » 128 23,640
—~F=REHUE A2AA2RE
8,528 * 79 + 33AI2t » 128 23,640
—IJtELY 4,320
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